BRAKES

Gasoline Vehicle

107

N%Q
/

J

106
108

w0

Front of Vehicle

82 - Includes ltems 84 - 92, 94, 95
83 - Includes Items 84 - 91, 93 - 95
84 - Includes ltems 85

86 - Includes ltems 87 - 91

92 - Includes ltems 94, 95

93 - Includes ltems 94, 95

100 - Includes ltems 101, 102

Page D-3

Service Parts Manual



BRAKES

N

When ordering parts, please specify the model and serial number of the product.

* Indicates a component that is not available as an individual part.
G** Indicates consult Customer Service Department for additional information.

Gasoline Vehicle

ITEM PART NO. 1 2 3 4 5 DESCRIPTION QTy.
88 ¥ LOWER SPRING ..ottt e e e 1
89 * PIN e e e 2
90 * CUP AND SPRING .....oootiirirereeereecenernes et s 2
91 ¥ ADJUSTER SPRING ..ottt 1
92 72582-G01 BRAKE ADJUSTER KIT (DRIVER SIDE) (INCLUDES ITEMS 94, 95)......... 1
93 72582-G02 BRAKE ADJUSTER KIT (PASSENGER SIDE) (INCL. ITEMS 94, 95) ......... 1
94 * ADJUSTER ... e e 1
95 * TEFLON WASHER ...t 2
96 17083-G2 BOLT, 5/16 - 24 X 1" LGi..errieeireeere et e 8
97 15126-G1 LOCK NUT, 5/16 = 24 ..ottt 8
98 21809-G1 INNER BRAKE DRUM WASHER, 1 5/16" O.D. X 1" [.D. X 1/32" ....ccciriirenen 2
99
100 21807-G1 BRAKE DRUM ASSEMBLY (INCLUDES ITEMS 101 - 102) ...c.ccovvrerierrerineenen 2
101 * BRAKE DRUM.....ooiiie ettt 1
102 19862-G1 LUG BOLT, 1/2 = 20 ..ttt nnee s e e 4
103
104
105 21830-G1 OUTER BRAKE DRUM WASHER ........oooiiiirreeneeereree e 2
106 00518-G8 SLOTTED NUT, 3/4 - 16.... ettt s s 2
107 10387-G1 COTTER PIN, 1/8" X 1 1/2" LG oot 2
108 74175-G01 SPINDLE CAP ...ttt s s e e e e re e e 2
109
110 72036-G01 BRAKE CABLE BRACKET (PASSENGER SIDE) ......ccccoiiiriecircere e 1
111 72036-G02 BRAKE CABLE BRACKET (DRIVER SIDE)......ccoiiiiiiieeeecerce e 1

Page D-7 Service Parts Manual




